HENEREREHES

SH5E6RH7H (OK)

Mt

€:E3::) (BT : kg )
SRR ==Y H 2 5 1B Z B fm &
HE 238 N7~ 515.3 2,298 25
<t/ 858.3 40 35
ESx 4,760.5 500 150
RAAIH LA 37.2 969 300
JUH LA 232.1 756 20
LEHLA 521.0 609 20
FHELS LA 681.4 683 119
=FHLA 212.7 300 20
<AOLA 203.6 589 161
XA LA 93.2 651 201
HNSAHLA 31.5 79 20
2O0F 50.7 239 21
VAXTY 1,423.1 2,000 656
<7rd 131.2 1,150 489
N 101.2 666 140
FA A 84.1 280 30
TIAITAF A 80.3 181 21
F+77>39 3,694.7 120 25
HFHS 880.4 45 36
FWR X)L 42.0 589 101
74 F XK 79.5 819 49
<0 65.8 49 20

e

14,779.8




§::3::) (BT ¢ kg )
TRETRAE =V H =2 = 1B Z & M =
SE  23& THLY 130.2 6,565 509
Y- #=: 8c/s
FHIVE 36.0 29,819 2,111 50
JESHAN 74.1 43 36
FRE7R™ 43.1 640 20
< kS A 244.4 290 33
ZILAA ST 212.6 509 200
ZILAA F5E 80.0 3,739 2,400 ﬁflm
1 c/s
TUAH 1,262.2 1,280 222
UL 158 490.0 6,019 2,039 ﬁfg&/s
1 c/s
> RS 58.1 640 481
T+E47 3,641.3 911 69
FEF~< T 807.3 1,750 500
|itsE 21,859.1




[f¥fa] (BT ¢ kg )

PEE S =V e B E = fE 7 fE " &
BEEXRE 1498 |N7> 363.9 400 51
@sZAN 1,418.2 616 35
Y 442.1 250 41
ESX 1,744.4 809 150
AAZHLA 73.5 1,293 300
JOH LA 39.7 589 344
LEALA 20.7 151 20
VAN 42.4 249 111
*OoF 104.3 269 20
XA 98.8 755 180
FIA 92.1 359 36
7> 465.4 139 31
HDFHS 47.4 59 20
>0OX/)ULb 172.0 1,239 400
Ho> 88.5 1,900 1,050
RAXF 134.4 1,296 469
dEZHAN 62.3 56 21
FFIA 903.7 3,696 600
RORD 206.3 792 20
NdF 54.4 1,239 200
N hO5FA 163.7 300 20
ESWYXSZ 38.2 500 159
Y= 24.4 892 592
INGHERE 6,800.8




€::3-2)

(EfZ : kg )
pHE i miEH B = = 1B Z 1B " =
BT 8% Ry FHA 2,531.1 600 300
80 4% 0%/ UL 146.3 1,259 300
REE 38% 7Y 707.8 600
CHE 10,186.0




[(&£) (BT ¢ kg )
JRETELE ffEg n = = 1B Z 1B B &
K 232 E=5X 139.1 500 350
<73 606.0 1,300 1,000
BERRIE 149€ |70 23.3 200 100
E=5 X 6,534.8 1,000 300
A2H0LA 167.5 650 400
<AL A 37.9 10,000 300
I54 89.1 800 200
XXF 205.0 1,500 1,000
JIF 29.7 1,500 300
#]D 4& E=5X 29.5 1,200 600
= 7,861.9




